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D70+ 5% 8 = 70 + 40 = 110

@19+ 15%x4=19+60="79
®40+3x9-12=40+27-12=67-12=55
@13+5x8—-6=13+40-6=53-6 =47
®62 - 5x7+20=62—35+ 20 = 27 + 20 = 47
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® (56 +8-6)+2=14 @56+(8—6)+2:14

® 56+ (8-6+2)=14

B \

D56+8-(6+2)=7-3=4
@ (56+8)-6+2=7-3=4
: 2=(7-6)+2=1+2
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®= 16 x 16 + 32 = 8(cm?)

O+ @+0®= 32 + 16 + 8 = 56(cm?)
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(7 [ _]16)[ ]4)-30= 384

(a7 _]16)[ 4} =68 4Uch.
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=68 - 30 = 38
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72 cm?

72 + 4 = 18 cm?

A7 Az == 18 + 4 = 4.5 cm?
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(72 - 18 + 4.5) x 2 = 117 cm?
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@3.8%x25=095

© 0.02 x 0.37 = 0.0074

© 2.5 x0.37 = 0.925

® 3.8 x0.02 =0.076




